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[ Instruction J

On the OMR Answer Sheet write the Registration No. and write & darken the circle/bubble of Roll No./Course/
Question Booklet Set. No entry / wrong entry of the above will lead to cancellation of papers for which the candidate will be
solely responsible.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-Sheet
using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer / option is found
darkened, then the answer will be treated as cancelled.

OMR Answer-Sheets will be preserved for a period of six months only from the date of result publication.
Example : @ OO O

Answer all the questions from the following 1x20 =20
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1. The three major living components of an ecosystem are
(A) Producers, Consumers and Decomposers (B) Producers, Decomposers and Autotrophs

(C) Heterotrophs, Consumers and Reducers (D) Detritivores, Phototrophs and Consumers

- qEerEd Tt o1 Toilwi 23
K Tesits, i @z Rmes (B) Beoinas, Ramess <k F(oid)
(C) &, 4w a3k Rers (D) JO&Iq, AEHAPREATFIG R AP
2. Chipko movement started at
(A) Darjeeling of West Bengal (B) Gopeswar Village of Uttarpradesh
(C) Hajaribag of Bihar (D) Raipur of Madhyapradesh I
o5t Sicwied vF =7 /6
(A) 53R TR -9 (B SRR (oMo AT {‘"J
(C) R grwifaie (D) V2T TR A2
3. Earth Summit held at Rio De Jeneiro was held in the year
(A) 1988 (B) 1992 (C) 1996 (D) 2000
fRe W (fcans FyEat Foaew =
(A) 1988 A= (B{l 992 Al (C) 1996 #itst (D) 2000 itet
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Law to combat air pollution was formulated in the year

(A) 1981 (B) 1952 (C) 1974 (D) 2002
AT AT TR LT 2
(491981 A (B) 1952 A= (C) 1974 Fits (D) 2002 et

Examples of Decomposers are

(A) Bacteria and Fungi (B) Phytoplankton

(C) Virus (D) Zooplankton

Roares Gize Swizgd =1

(A) Jic3a 8 waie  (B) FRGINEG (C) ©i3a (D) S2IEG
Chief cold biome of the world is

(A) Tundra (B) Forest (C) Grassland (D) Desert
7RI Tx1e] 2= AT

() 2= (B) FFIeet (C) g (D) ¥

Rhinoceros is found in the following place of West Bangal

(A) Sajnekhali (B) Sunderbans (C) Garumara (D) Jaldapara
NS 2N T APSTH

(A) TEAAIO (B) R W (l}'{ GO
Korbet National Park is situated in

(A) Uttarakhand (B) Madhyapradesh (C) Haryana (D) Rajasthan
FAEG TS AIF SIS

(,f{) TeIis (B) SO&ITA0H (C) Tty (D) FTeEH
Which of the following is not a sdurce of non-conventional energy?

(A) Sunlight (B) Geo-Thermal Energy (C) Natural Gas (D) Tidal Power
FrfReefy g @it Seshe e St @

(A) 7 aF %Wﬂ @/Wmm (D) csaie S«

Radioactive emission affects living organisms by causing

(A) Genetic Mutation (B) Intestinal Disorders
(C) Growth Arrest (D) Energy Loss
couiEy [fdacrs T dRee
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(A) 1" October to 7™ October (B) 15™ October to 21* October
(C) 1% June to 7" June (D) 15" June to 21 June
AN A #Hfers 23—
(A) >eTl TSR (ACE 13 HFIRA (B) €3 S(FIE (AF 504 HFIA
(C) 53 G+ (ACF 98 G (D) >¢% & (ATF 1> G
12. Lowest layer of atmosphere is called

(A) Thermosphere  (B) Stratosphere (C) Troposphere (D) Mesosphere
AgeER 7T w4l 2 ,
(A) i (B) i1 (/Q{ﬁ‘mﬁ*zfm (D) G

13. Sequence of eating and being eaten in an ecosystem is called
(A) Food web (B) Natural cycle (C) Ecological Pyramid (D) Food chain
AEO(E THE 8 ST GACF A

A) vy Tferast (B) igfed 5a (C) ArEerEs e 7 Prfie (1) 4w e

14. Detritus food chain starts from
{A) Green plants (B) Grass (C) Dead organic matter (D) Phytoplankton
FEEN W) Wafe] wE 2
(A) & Sferwd (4@ (B) W0 (A (€] 5 T5 W @ (D) wIEGIATED (0
Biodiversity means
(A) The living natural resources (B) Land and forest
(C) Oceans and sea (D) Atmosphere fo» V-IJ; o
Edtafiay @eit g / : ”
(A St argfom Fmorm (B) T ¢ T=ey ' N
(C) T2RE @ 5T (D) ST &7

16. L.ignite, bituminous and anthracite are ditferent types of
(A) Nuclear fuel (B) Coal (C) Natural gas (D) Biogas
fe91+i125, faBhmm @ SIS 25 fafen qara=
() A G @) s (C) 2igfess i (D) Qe

\17/ The loss of water from plants and tree leaves is called

{A) Precipitation (B) Respiration (C) Evaporation (D) Transpiration
Bfgrnd #Tei (S TeTd APAOIAE A0
(A) cEfoET (B) g/) RliGICEC (D) I
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Deforestation generally decreases

(A) Rainfall (B) Soil erosion (C) Draught
FRIRAN ARSI I
(&) FEire (B) gfimea €
Chipko movement was started to conserve
(A) Forests (B) Grasslands (C) Deserts
fi?ﬁmm R @G IR &) & 27
Sy (B) wgf (C) wegy
X,
4

(D) I

(D) Global warming

(D) Rt Btz

(D) Soil

(D) Y&t



